2 BREAUEIR O RE

(1) &7 NT 7 « &= (FEEE)

O H£EFETNLT 7 - XX EEEE HAAT  —
— A [ 0 A
B 7E Hh s 44 H TN | el HIE S 4 H YN

4 H D 3.3 4 H 2.2 3.1
5 H * 3.4 5H 2.3 3.1
6 H * 3.4 6 H — —
7H * 3.3 7H — —
8 H * 3.5 8 H - -
AT T 9 A 2.5 3.3 TE AT T 9 A — —
SRS 10 H * 3.2 FUP /N aAg 2 10 H — —
1Al 25 3.3 11 A — —
128 | 2.6 3.5 12 A — —
1 A * 3.4 1 H — —
2R/ | 2.4 3.3 2 A — —
3 H * 3.6 3 A 2.2 2.6
4 A 2.3 3.6 4 H 2.2 3.4
5H| 2.3 3.8 5 A 2.2 3.1
6H | 2.3 3.4 6 H 2.3 3.3
TH 3.1 7 A * 3.5
8 H 3.1 8 A s 3.8
R T 9 H 2.2 3.0 Bz 5 9 A 2.3 3.1
T 10 H 2.2 3.1 HFE J5 /N 10 A 2.3 3.2
1Al 23 2.9 11 A 2.2 2.9
12 A 2.2 3.0 12 A 2.3 3.2
1A | 2.1 2.9 1A 2.2 3.0
2 A 2.2 2.8 2 A 2.1 2.9
3 H * 3.0 3 A ¢ 2.9
4 J 2.4 3.2
5 H * 3.3
6H | 2.4 3.4
7H 3.6
8 H 3.5
R T 9 A 2.4 3.5
AR 10 A 2.3 3.5
1HH| 2.4 3.1
12 A 2.4 3.2
1 A * 3.3
2 A 2.4 3.1
3 H * 3.5

F 1) Tx) X, TLTD : MHERFARN ] 239,
H2) YR 2945 H 22 A~ 304E 3 H 26 HOM. HIEREBHRILEDOTD, RHlER->TN5,
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@ HEEHOEN—F K6

AT : Bg/m®

N—— W E A N ) E fif
) E Hh A A A RN T E Hh A 4 A o |
4 H *!) 8.2 47| 0.15 6. 4
5 A * 8.1 5H | 0.24 6.1
6 H * 8.3 6 A - o
7H * 6.2 7H — —
8 A * 6.5 8 A — —
IV RITE T 9 H 0.27 8.8 AT T 9 A — —
b 10 H * 12 EPRPNES 10 H — —
11 A 0.75 7.2 1A - o
12 A 0.48 8.4 12 A — —
1A * 12 1A — —
2 A 0.75 8.0 2 A — —
3 A * 8.7 3H | 0.50 5.6
4 A 0.18 7.8 48| 0.17 5.7
5 H 0.16 6.9 5H | 0.24 5.8
6 H 0.18 7.6 6H | 0.15 6.7
7H * 6.1 7 H * 6.1
8 H * 6.2 8 A * 6.5
VAT 7 9 A 0.26 8.8 oo JET 9H | 0.25 5.1
T 10 A 0.19 10 HOE 5 /NS 10H | 0.20 8.7
11 A 0. 77 7.3 1A | 074 5.6
12 A 0.47 8.7 124 | 0.48 5.6
1 A 0.16 12 1H | 0.18 7.9
2 A 0.72 8.0 28| 0.73 6.3
3 A * 8.2 3 H * 6.8
4 A 0.18 7.4
5H * 6.5
6 A 0.18 7.8
7H * 6.4
8 A * 5.3
AHAITIRF T 9 A 0.27 6.2
55 10 H 0.21 8.2
11 A 0.78 6.4
12 A 0.52 6.1
1A * 8.6
2 A 0. 81 7.7
3 H * 7.1
ELD ) %, TLTD : MHFRARRE ) 28T,

E2) Fpk 2945 H 22 A~Fp 30 423 A 26 H O], MEREBH LEDID, RELR>TND,
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@ £EKT 6 K% OE—H e

HAT : Bq/m’

S T fiE [ T fiE
) 7E S A4 A YNRE T, T 7E Hh A 44 A RN
4 A *!) 0.25 4 A * 0.19
5H % 0. 37 5H * 0.17
6 A * 0.38 6 H — —
7R * 0.26 T H — —
8 A * 0.22 8 H — —
R T 9 H * 0.20 EN AR T 9 H — -
EP 10 A * 0.27 FRI AR 2 10 A — —
11 A * 0.16 11 H — —
12 A * 0.18 12 A — —
1 A * 0.15 1 H — -
2 H * 0.23 2 H — -
3 H % 0.24 3 A * 0.10
4 A * 0.21 4 H * 0. 25
5H * 0. 20 5 H * 0.29
6 H * 0.21 6 H * 0.24
7H * 0.15 7H * 0.15
8 A * 0.16 8 H * 0.14
TR 9 A * 0.18 Wz 5 9 H * 0.22
R HT 10 A * 0.20 HGE 7 /N 10 A * 0.24
11 A * 0.15 11 A * 0.13
12 A * 0.18 12 A * 0.21
1A * 0.17 1H * 0.12
2 H * 0.19 2 H * 0.11
3 H * 0.20 3 H * 0. 26
4 A * 0.17
5 H * 0.16
6 H % 0.15
7 A * 0.17
8 A * 0.13
AHAITIRE T 9 H * 0.12
5 10 A * 0.19
11 A * 0.11
12 H * 0.13
1 H * 0. 082
2 H * 0.11
3 H % 0.16
HE D Tx) 0%, TLTD : R 2£ T,

HE2) V2945 A 22 A~THK304E 3 A 26 O, HIEREBHRILEDTD, RHEER>TN5,




(2)  EEHIHT

TSRO (W =)

O FiEE BT : mBg/m®

PR 54 FR U R “Mn | ®Fe | ®Co | ®Zr | *Nb | "Ccs | "®'Ccs | "Ce
2944 4 3 H~294 4 A 30H e * * * % * * *
2945 H 1 H~294 5 A 31 H * * * * * % % %

2046 41 A~294 7TH 2 H * * % * * * * %

29 7TH3H~294F 7TH31H * * * * % * * *

2948 1 H~294 8 31 H * * * * * * * *

MR | 2949 A 1 H~294 10 A 1 H * * % * % * * *
H ® | 204510 H2 A~204E10 H31 B | * * * * * * *
29411 A1 H~294£11 A 30 H % * * * sk k0.0088 | %

294212 H1 A~304 1 H 3 H * * * * * % % %

3041 H4H~3041H 31H * * * * % * 0.011 *
3042H 1 H~3042H 28 H * * * * % % 0.011 *
30FE3H1H~3044 A 1H * * * * % * * *

2944 H3H~294 4 H30H % * * * * * * *

204E5 41 H~294 531 H % % % * * % | 0.011 %

2946 41 H~294 7H 2 H * * * * * * * *

204ET7TH 3 H~294 7TH 31 H * * % * * * * %

2948 1 H~294 8 A 31 H % * * * sk * * *

EERTTH | 2949 H 1 H~294 10 H1H * * * * * % % %
BT | 294210 A 2 B~294E 10 A 31 A * * * * * % % %
294E11 A1 H~294£11 A 30 H % * * * sk * * *

29212 H 1 A~304 1 H3H * * * * * * * %

3041 H4H~3041H 31H * * * * %k % % %
302 H 1 H~3042 A 28H % * £ * 2 £ % %
30FE3H1H~3044H1H * * * * * * * *
294 H 3 H~294F 4 H 30 H * * * * * * * *

2045 1 H~294 531 H % * * % * * * *

2946 H1H~294 7TH2H * * * * * * * *
204ET7TH3H~294 7THS3LH * * * * sk * * *

204E8 41 H~294 8 A3l H % * * * * * * *

HETIETT | 2949 A 1 H~294¢ 10 A 1 H * * * * * * * *
¥ 5| 20410 A2 A~294E10 A 31 A * * * * * % [0.0090| =
294E11 A1 B~294£11 A 30 H % * * * 3k * * *

29412 A1 H~304 1 A3 H % * % * * % | 0.012 %

3041 H4H~3041H 31H * * * * % % % %
3042H 1 H~3042H 28 H * * * * % * * *

303 H1H~3044H1H * * % * % % % %

ELD kg %, IND:BEEnT) 2F£7,

44




AL : mBg/m®

PRt S 4 R AT “Mn | *Fe | ®Co | %Zr | “Nb | ®iCs | ¥Cs | MiCe
294FE4 4 3 H~294 4 A 30H *? % % % % sk % *
295 71 H~29% 5 7 22 H ok * * * * * * *
FENATRE — - - — - - — - —
SRRV g — — — - — — — — —
304-3 A 26 H~304-4 A 1 H * * * * % * * *
2044 H 3 H~294F 4 330 H * * * % 2 £ * *
294E5H1H~294 5 H 31 H * * * * * % % *
296 H1H~294E 7TH2H % % * % * % * %
29 7TH3H~294 7 31 H * * * % 22 £ * *
2948 H1H~294 8 H31 H * * * * * % % *
Wi | 2949 H 1 H~294 10 1 H * * * % * % * *
WM | 2945 10 H 2 AH~294F 10 A 31 A * * * * * * * *
294 11 H1 H~294E11 H 30 H % % * % % % * *
2912 H 1 H~304 1 H3H * * * % * £ % *
3041H4H~3041H 31 H * * * * * % * *
3042H 1 H~3042H 28 H * * * % % % % *
303 A1 H~304F4H1H * * * % %k % * *

D PRk 2945 A 22 H~RK 30 43 A 26 H O, BIER
TR AR AP AERRE & F5hE L 7=,
Ww2) Tk 1%, IND: #HEhd) 2R,

B
5

BRILFEOD, KL > TnD, Bk
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@ KT HAT : Bq/m?

BRI R 4 PRI HIERERES| Mo | PFe | “Co | *Zr | ®Nb | "Cs | "Cs | "Ce
294 4H 3H [ Y % % * % * | 0.060 | =k
~294E 4 4 30 H E * * * * * * [ 0.062 | =k
294 5H 1H I=X % % % * % % | 0.066 |
~294 5 H 31 H =el=Ey * * * * * * 0. 057 *
294 6 H 1 H JI=X % % % * % k| 0.087 | %
~294-7H 2 H g * * % * * % | 0.073 | %k
294 7TH 3H 128 P 3 3 * % k [0.039 | sk
~294F 7 A 31 H g * * * * * % % %
294 8H 1H bk * * * * * * * *
~294 8 A 31 H E * * * * * £ %k *
294 9H 1 H [I=X % % % * * % % *

T ~294 10 A1 H i |k * * * % * 0.079 | *

T 2945 10 H 2 H 12X * * % * % % | 0.061 | *
~294F 10 H 31 H E % * % * * % | 0.050 | *
294 11 H 1 H JI=X * * * * * k| 0.038| *
~294F 11 H 30 H g % * 3 * * *k % *
204 12 H 1 H [} * * 2 * % * | 0.12 2
~304 1 H3H i % % * * * * * *
3041 H 4R JI°8 x x *x * * * 0. 091 *
~3041H 31H e * * * * * k | 0.10 | *
3042 A 1 H JI=8 * * * * * * 0.12 *
~304:2 H 28 H g * * % * * % |0.096 | sk
3043 H1H JI=X * * % * * * | 0.16 | k
~3044 H 1H HER %k %k %k * * 10.080| 0.77 b

ELD k] %, IND: B End] 2%,
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@ R K H{T : mBq/L
giﬂ,% *%H‘Xﬂﬂﬁ_i% *%E‘yﬁiﬂ E (EU';E"*%%EIQ 54Mn 59Fe 60C0 QEZr 95Nb 13/1CS 137CS MlCe /IOKZ)
2946 7 1A R * * * * * * 26
B * % % * * % * % | 20
20460 7 12 1 =8 * % % * * % % * | 23
ﬁﬂﬁ?;ﬁﬁm i | x| % | ok | % | x| x| x| % | 32
3y,
(*#mmﬁmﬁ)zwﬁmﬂ 7H LN * * % * * * * * 24
g * % % * * % % * | 24
203 A 2 0 =1 * % % % % % % % | 25
£ & | x| x| % | x| x| x| x| x| 2
7K
294E6 H 7 H B * * % % * % % * | 24
HRGT  EhT 2049 A 12 H HiEE % %k %k %k %k %k %k %k 20
(R B AGE T OV
PIEBAGEREA) g9 4212 0 7R | vheg | % | % | % | & | % | % | x | % | 25
303 A2 H i % % * * % * * * 26
204£6 A 7 H W % % % % % % % x | 84
. 204E9 H 12 H | W% * * * * * * % * | 79
I AN AT T
IR
VN 204E12 8 TH| @ | ok | ok | x| ok | k| x | % | x | 82
304E3H2H | HE * * * % * % % * | 78
IR T 20429 A 11 H HiEE * * %k % %k % % * 161
i
=
WFEIN | somsgon | pm | = | % | % | s | % | = | % | % |13
209 1 11 H [1=1 * % % % % % * % | 151
N G
jﬁ ﬁigm B | % | x| ok | ok | ok | x| x| % | 139
7K GEER) 1) 043 1 2 H 1= £ %k % %k ES % %k %k 103
g * % % * * % * % | 104
B T 20429 H 11 H | & * * * % * % % % | 162
YEFH
(B1) 3043H2H | HE * * * % * % * % | 127
1) Tk X, IND: #HEnT) 2R,

E2) KX, BRAKSMHEECH D,
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